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EFETHETRAOR
FRERERAOGIEAZEHZED) %*D5£ﬁ1 H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 299 344 387 731
AER1TH 1,055 1,163 1,276 2,439
mAET2TH 1,191 998 1,353 2,351
A R ET 2,355 2,309 2,609 4,918
BERT1TH 608 586 631 1,217
B ERT2TH 400 396 444 840
B ERI3TH 307 358 315 673
B ERTATH 539 478 509 987
B ERSTH 829 883 879 1,762
I ER6TH 374 390 414 804
HiF = HT 546 582 622 1,204
45 KHT 515 585 608 1,193
HHT 1,002 1,075 1,205 2,280
BEHT 52 52 57 109
A K BT 612 686 713 1,399
7 HT 439 437 459 896
RILHT 454 475 520 995
FORHET 207 190 222 412
RFHT 202 198 231 429
KHET 352 325 363 688
KET1TH 237 238 280 518
XKET3TH 293 338 324 662
XETATH 875 805 987 1,792
fit] LLI BT 2,446 2,734 2,879 5,613
JE LT 994 1,101 1,195 2,296
EHERT2TH 318 459 452 911
EHERISTH 418 516 515 1,031
EHERT4TH 390 459 493 952
EHERSTH 348 396 451 847
EAEHET6TH 215 288 279 567
EHERT7TH 169 253 261 514
=Y:i 336 329 365 694
8 [F T 1,654 1,470 1,706 3,176
=i ET 514 540 627 1,167
2l 3t BT 474 563 552 1,115
N =15 100 112 119 231
+HEFRT A 638 628 701 1,329
L EFHTER 847 759 845 1,604
L HAET 1,954 2,081 2216 4,297
LFH¥ABT1TH 73 120 112 232
LH¥\ET2TH 158 157 181 338




HEZ HH 5 £ i
LFEI3TH 148 153 164 317
L¥AET4 T B 165 183 204 387
LHABTS T B 216 262 299 561
I == HT 201 207 227 434
M=rET1TH 562 543 528 1,071
JNsFET2T H 554 521 565 1,086
JO=fET3TH 428 436 408 844
M=rET4T H 1,067 1,053 1,102 2,155
I S5k T 591 595 661 1,256
I=F5di) 221 204 245 449
Jt B BT 30 35 38 73
B[] 394 350 339 689
478 = HT 819 919 976 1,895
FHRHET 82 77 93 170
1 2 FF T 356 392 425 817
BEFE1TH 96 118 130 248
BEFE2TH 276 308 323 631
T EHT 131 135 136 271
/N BB T 3,122 3,085 3,276 6,361
1R T 260 281 306 587
YEZF HT 757 741 770 1,511
EXBI1TH 258 246 261 507
=/ LLIHT 218 158 124 282
Hh ek HT 27 27 4 31
T A EHET 11 16 12 28
THHEE1TH 732 648 690 1,338
THHEE2TH 528 551 531 1,082
THHEESTH 863 900 1,035 1,935
TEHE1TH 176 178 169 347
TEHRI2TH 814 751 863 1,614
TEHRISTH 161 177 181 358
TEHRI4ATH 97 110 118 228
TEHRISTH 209 230 236 466
T HAET 507 516 550 1,066
THET1TH 349 348 356 704
THET2 T H 470 429 488 917
TH#RBI3TH 201 195 221 416
THABTATH 156 147 176 323
TH#RBI5TH 169 176 206 382
TH#RI6TH 139 166 162 328
HAHT 17 16 8 24
ikl 184 198 178 376
#8)11 HT 46 46 54 100
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HEZ HH 5 £ i

K IH 298 308 334 642

7B KHT 1,644 1,624 1,761 3,385
FSIED 258 312 296 608
XHILET1TH 836 733 896 1,629
XHILET2TH 316 344 367 711
X#ILET3TH 154 147 166 313
1 [ BT 44 67 73 140
hHET1TH 385 420 400 820
hHET2TH 469 466 522 988
hHBEI3TH 453 509 505 1,014
niEld:) 250 221 267 488
th 2 JEHT 216 197 225 422
ch T 134 129 162 291
FRAHT 775 867 861 1,728
At FAET 885 871 995 1,866
75 K ERET 777 938 987 1,925
75 2 [N HET 1,681 1,810 1,940 3,750
A 911 853 958 1,811
$FHET1TH 530 474 504 978
$FHET2T H 401 385 428 813
¥FHETST B 198 204 223 427
T 165 208 217 425
HET1 T B 387 480 496 976
HET2 T B 343 357 401 758
HET3 T B 357 384 433 817
HET4 T B 120 118 149 267
J\ & T 994 1,053 1,095 2,148
J\ EHHT 157 191 185 376
+ A ERT 247 272 308 580
T A HT 1,625 1,586 1,805 3,391
THB1TH 20 18 16 34
THRB2TH 1,481 1,346 1,353 2,699
T4HBI3TH 192 176 160 336
THRBI4TH 370 297 366 663
T4RB5TH 923 621 917 1,538
T4HBI6TH 644 634 678 1,312
THRI7TH 349 359 414 773
T4HBISTH 376 396 420 816
THRBOTH 405 440 500 940
THB12TH 240 259 271 530
T4WB13TH 317 355 381 736
o NIEL] 1,962 1,683 1,929 3,612
HARRHET 1,388 1,246 1,172 2,418
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HEZ HH 5 = 5
F AR K/ ET 292 366 383 749
EH AR ERT 163 165 172 337
- WNEL] 129 115 134 249
FH AR hHET 208 227 264 491
FHARAKHET 438 454 485 939
& AR EHT 319 330 371 701
HARE)IIHT 282 261 294 555
=N ] 113 119 137 256
FH AR JTHT 99 95 105 200
EARERHE 666 565 637 1,202
B K BRHET 380 395 403 798
Edsa] 892 882 1,012 1,894
BEFET1TH 753 730 740 1,470
BEIFRI2TH 596 597 677 1,274
BEFRISTH 346 407 407 814
AIFTET1TH 428 384 423 807
AIFFRT2T B 600 600 670 1,270
AIFTET3T B 658 744 805 1,549
A HT 183 193 185 378
B LH 250 313 335 648
NEL] 797 742 820 1,562
ERL 782 938 939 1,877
= HHE 1,734 1,910 1,969 3,879
HETHRET1TH 570 605 647 1,252
HLIRET2TH 512 591 633 1,224
HLIREISTH 291 365 365 730
P fx T 316 358 385 743
mERI1TH 1,166 1,117 1,259 2,376
mERI2TH 847 948 1,036 1,984
FA T 1,354 1,361 1527 2,888
= RITET 525 481 538 1,019
= AHT 350 277 324 601
AR#4HT 7 5 4 9
) 510 560 506 1,066
SHET1TH 708 614 767 1,381
S HET2TH 413 442 471 913
aHEI3TH 860 723 879 1,602
S HET4TH 762 612 827 1,439
E& T 1 1 0 1
J\BRET1TH 218 250 270 520
J\BRET2T B 224 220 237 457
J\BRBET3TH 251 310 316 626
1Ty 299 420 409 829
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HEZ HH 5 £ it
FHEIET1 T B 165 194 201 395
FIaIET2 T B 302 430 465 895
FIEIET3 T B 112 179 171 350
FEOER1TH 135 201 203 404
FEOER2TH 0 0 0 0
FENDERITH 21 19 2 21

wEE 89,301 90,856 | 98,540 | 189,396
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